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1. In the process of vulcanisation which two of the

following are heated together?
(A) Rubber and Sulphur (B) Latex and Sulphur
(C) Rubber and Steel (D) Rubber and Lead

2. The weight of an 1ron ball on earth 1s 12Kg. Its
weight on moon will be

(A) 18kg. (B) 9 kg.

(C) 12 kg. (D) 2 kg.

3. The periodie time of a Pendulum depends on
(A) Its length (B) Density of 1ts Bob
(C) Shape of 1ts Bob (D) Volume of 1ts Bob

4. When 1s liquid 1s heated trom 200C to 60°C 1ts

density
(A) Remains the same (B) Increases
(C) Decreases (D) Is lost

. The closest distance at which a normal person can
see an object clearly 1s

(A) 10 cm. (B) 50 cm. (C) 80 cm. (D) 25 cm.

6. A red rose when seen 1n green light appears

(A) Red 1n colour (B) Green 1n colour
(C) White 1n colour (D) Black 1n colour

7. In International System of Units (S.I) number of

supplementary units 1s
A2 B3 ©)4 (D)Many

8. A ballon filled with hydrogen bursts on reaching
high altitude because.

(A) Presure 1nside ballon becomes less

(B) Presure 1nside ballon becomes more

(C) Surtace of the ballon gets melte

(D) It 1s a natural phenonmenon

9. X-rays are

(A) Electromagnetic Wave

(B) Electromagnetic wave ot short wave length
(C) None of the above

(D) Electromagnetic wave of long wave length

10. Solar energy 1s produced by the process of

(A) Fusion (B) Fission (C) Explosion (D) Contraction

1 1. Which once of the tollowing are called Noble
gases”?

(A) Oxygen and Hydrogen (B) Oxygen and Argon
(C) Agron and Neon (D) Hydrogen and Neon

12. A man presses the arth least when he 1s
(A) Standing (B) Siting (C) Running (D) Lying flat

13. In underground Railways air 1s puritied by using
(A) Ozone (B) Hydrogen peroxide
(C) Oxygen (D) None of the above

14. In 1775 a scientist experimentally showed that air
consists of two gases. The name of the scientist 18

(A) Preistley (B) Laboisier (C) Darwin (D) Davy

15. Dry 1ce 1s made up of
(A) Water (B) Chlorine
(C) Hydrocarbon (D) Carbon dioxide

16. Water gas 1s a mixture of

(A) Carbon monoxide and Hydrogen
(B) Carbon di-oxide and Hydrogen
(C) Carbon monoxide and Nitrogen
(D) Carbon di-oxide and Nitrogen

17. Which one ot the following 1n not an autotroph?
(A) Grass (B) Green Algae (C) Fungus (D) Fern

18. Photosyntetic plants store glucose as
(A) Sucrose (B) Starch (C) Cellulose (D) Glycogen

19. Most fossils are found 1n
(A) Granite (B) Sedimentary rocks
(C) Black so1l (D) Lave tflow

20. In the present concept of evolution the unit of

evolution 1s
(A) Individual (B) Families (C) Population (D) Species

21. Which one of the following 1s a Reptile?
(A) Salamander (B) Turtle (C) Newt (D) Shark

22. Yellowing of plant leaves 1s called chlorosis,

Insufticiency of which on cauises it?
(A) Sodum (B) Phosphorus
(C) Calcium (D) Magnesium

23. A red blood cell lives for about
(A) One week (B) one month
(C) Three months (D) One year

24." The pcreentage of solar energy absorbed by the
leaves ot greenplant in photosynthesis 1s
(A)1 (B) 10 (C) 30 (D) 50

25. In repening fruit which one ot die tollowing 1s
used?

(A) Ethylene
(C) Methane

(B) Acetylene
(D) Polyvinul chloride
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1. Phosgene 1s a common name of
(A) phosphorus trichloride (B) phosphorus oxychloride
(C) phosphine (D) carbonyl chloride

2. An 1ron ball and a wooden ball of the same mass are
released trom a height h 1n air. Neglecting viscous drag
of air

(A) 1ron ball will hit the ground earlier

(B) wooden ball will hit the ground earlier

(C) there 1s equal probability tor the wooden and 1ron
ball to hit the ground earlier

(D) both will reach the ground at the same time

3. Which of the following mixtures can be separated by
using separating tunnel?
(A) water + sugar

(C) water + o1l

(B) water + milk
(D) petrol + kerosene

4. Chlorine 1s not a constituent of
(A) DDT (B) chlorophyll
(C) chlorotform (D) bleaching powder

5. A glass bulb 1s balanced by a brass weight on a
sensitive beam balance. Now the balance 1s covered by
a bell-jar which 1s then evacuated :

(A) the beam will continue to remain horizontal

(B) the pan containing the bulb will go up

(C) the pan containing the bulb will go up or down
depending on the degree ot vacuum produced

(D) the pan containing the bulb will go down

6. Lysine 1s an essential aminoacid because
(A) 1t 1S very rate

(B) 1t 1s an important constituent ot all proteins
(C) 1t has a high nutritive value

(D) 1t 1s not tormed 1n the body and has to be provided
through food

7. A substance used 1n metallurgy to remove rock
material 1s called

(A) matrix (B)slag (C) flux (D) gangue.

8. How many times will the equivalent resistance of n
identical conductors be changed it their parallel

arrangement 1s changed 1nto a series one
(A)n (B)n2 (C)n3 (D) rootovern

9. Graphite 1s used 1n nuclear reactor.

(A) as a lubricant

(B) as a fuel

(C) for lining 1nside the reactor as an insulator
(D) tor reducing the velocity of neutron

10. The emf of a cell does not depend on
(A) the size of the cell (B) the material of cathode
(C) the material of anode (D) electrolyte used

11. 1S an antivitamin.

(A) beta carotene (B) methyl cobalamine
(C) pyrithiamine (D) folic acid

12. Which part of ear maintain the balance of our
body?

(A) otolith (B) malleus

(C) tympanic membrane (D) cochlea

13. A radioactive 1sotope has a halflife period ot 3
days. After how many days 1 gm of 1t will change to
0.125 gm?

(A)24 days (B) 9 days (C) 6 days (D) 12 days

14. Glass 1s best described as
(A) a gel (B)an alloy
(C) a eutectic mixture (D) a supercooled solution

15. What are potato ores?

(A) Potato of Namital and Himachal Pradesh

(B) HYV seed potato raised 1n 1rrigated tracts of W.B.
(C) Nodules of a variety of minerals found on the sea

beds
(D) Ores of nuclear minerals

16. In the manufacture of steel by open hearth process

cast iron used has no phosphorus but has manganese as
an impurity. The turnace should have a lining of

(A) magnesia (B) lime (C) silica (D) lime or magnesia

1'7. Nucle1 of radioactive elements emit
(A) neutrons

(B) protons

(C) either protons or neutrons

(D) neither protons nor neutrons

18. Particles which can be added to the nucleus of an
atom without changing chemical properties are called
(A) neutron (B) proton (C) electron (D) a particle

19. The energy of an electron in the first Bohr orbit 1s-
13.6 eV. What will be its energy 1n the second Bohr
orbit?

(A)-6.8eV (B)-3.4eV (C)-27.2eV (D)-13.6eV

20. Vinegar 1s a dilute solution of
(A) formaldehyde (B) formic acid

(C) ethanol (D) acetic acid
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21. The erosion of soil by winds can be best controlled
by

(A) atforestation (B) removal ot vegetation

(C) dry farming (D) creation of wind breaks

22. Which one of the following 1s a protozoa?
(A) Pea mosaic (B) entamoeba hystolytica
(C) yeast (D) variola

23. The disease caused by the deficiency ot vitamin Bp
(A) aplastic anaemia (B) sickle cell anaemia
(C) normocytic anaemia (D) “pernicious anaemia

24. The Earth’s magnetic field

(A) never changes

(B) has reversed itself many times

(C) 1s centered exactly at the Earth’s centre

(D) originates 1n a permanently magnetized iron core

25. A pair of compounds which cannot exist together 1n
solution 18

(A) sodium bicarbonate and caustic soda

(B) sodium bicarbonate and water

(C) sodium bicarbonate and sodium carbonate

(D) sodium carbonate and caustic soda

2002

1. The unit of radioactivity 1s

(A) Plank (B) Einstein

(C) Curie (D) None of the above

2. During photosynthesis.

(A) Presence of oxygen 1s essential

(B) Catabolic reaction takes place

(C) Light energy 1s stored as potential chemical energy
in the food (glucose)

(D) Stored potential chemical energy of food 1s
released as heat energy and other forms of energy.

3. Which one of the following 1s an element?
(A) Table salt (B) Water (C) Graphite (D) Glass

4. The relative humidity inside a room 1s 50% while the
temperature 1s 300C. It the temperature becomes 40°C,
then the relative humidity

(A) Will increase

(B) Wi1ll decrese

(C) Will remain unchanged

(D) Will increase or decrease depending upon the size
of the room.

5. Which one 1s the connecting link between Reptiles
and Mammals?

(A) Peripatus (B) Lung fish
(C) Duckbill platypus (D) Archaeoptaryx (Extinct)

6. A Plant cell shrinks when placed in
(A) Water (B) A solution 1sotonic with the cell sap
(C) A hypertonic solution (D) A hypotonic solution. .

7. With an ordinary balance we measure
(A) Volume (B) Mass (C) Weight (D) Density

8. Fixation of nitrogen 1s meant

(A) Liquetaction of nitrogen

(B) Conversion of atmospheric nitrogen into usetul
compound

(C) Manufacture of nitrogen from air

(D) Conversion of nitrogen into nitric acid.

9. Which one of the following 1s not an endocrine
gland?

(A) Adrenal gland (cortex) (B) Pituitary gland
(C) Salivary gland (D) Thyroid gland

10. Which 1s the largest animal ever to live on earth?
(A) Dinosaur (B) Whale
(C) Elephant (D) Anaconda

11. A simple microscope was first invented by
(A) Robert Hook (B) Leuwenhocm

(C) Purkinje (D) Robert Brown

12. *Functional Theory of Resources™ was propounded
by

(A) Weber (B) Zimmerman

(C) Wagener (D) Harvey

13. Normal leaves are called
(A) Seed leaves (B) Flora leaves
(C) Foliage leaves (D) Scale leaves

14. What 1s the most widely cultivated truit in world?
(A) Banana (B) Apple (C) Guava (D) Grapes

15. Al reaction involving chemical decomposition

(A) Are reversible

(B) Are endothermic

(C) Are reversible and endothermic

(D) May be reversible or irreversible and exothermic or
endothermic.

16. Roots of a tree are
(A) Negatively geotropic (B) Positively geotropic
(C) Positively phototropic (D) Negatively hydrotropic.

17. Majority of animal-viruses contain
(A) DNA (B) RNA
(C) RNA and DNA (D) None of DNA and RNA
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18. In which part of human body, urea 1s produced?
(A) Kidneys (B) Liver
(C) Pancreas (D) Urinary bladder

19. Refrigeration helps in food preservation by

(A) Killing bacteria and germs

(B) Greatly retarding the rates of biochemical reaction
(C) Providing a cover of ice over tood

(D) Stopping enzyme action

20. Some automobiles have additional yellow head
lights. This 1s so because

(A) Yellow light consumes less power

(B) Yellow light does not produce dazzling effect in
the eyes of the pedestrians

(C) Yellow light 1s able to penetrate fog, thus it 1s able
to 1lluminate the road better in foggy nights

(D) The automobile looks more imposing with yellow

head lights.

21. Which of the following metals 1s the best conductor
of heat and electricity?
(A) Sodium (B) Copper (C) Silver (D) Potassium

22. Which of the following 1s an infectious bacterial
disease?

(A) Conjunctivitis (B) Diptheria
(C) Influenza (D) Measles
2003

1. Pitcher plant 1s

(A) Autotrophic (B) Heterotrophic

(C) Insectivorous (D) Actinomorphic
2. Hydrogen bomb 1s based on the principle ot
(A) Nuciear fission (B) Nuclear fusion
(C) Nuclear explosion (D) None of the above

3. AIDS 1s
(A) Viral disease (B) Fungal disease
(C) Bactenial disease (D) Genetical disease

4. Which one of the following 1s a correct statement?
(A) A mineral cannot be an ore.

(B) An ore cannot be a mineral.

(C) All ores are minerals.

(D) All minerals are ores.

5. Umiversal donor 1n blood transfusion refers to
(A) Blood Group A (B) Blood Group B
(C) Blood Group AB (D) Blood Group O

6. Scurvy 1s caused by the deficiency ot
(A) Vit A (B)Vit.t B () Vit. C (D) Vit. D

7. Viscosity of a liquid

(A) Increases with increase 1n temperature
(B) Decreases wtih 1increase in temperature
(C) Independent of temperature

(D) Decreases wtih increase in pressure

8. Which of the following becomes zero in a fully
turgid cell?

(A) Water potential (B) Wall pressure

(C) Osmotic pressure (D) All of the above

9. If density of air 1s 1.30 g/lit. what 1s the volume
occupled by 7.8¢g of air?
(A) 10 Lit. (B)y6lit. (C)6.5ht. (D) 10/10 It

10. Colles’ fracture 1s associated with
(A) Humerus (B) Radius (C) Ulna (D) Femur

11. Septicemia 1s
(A) Food poisoning
(C) Mental disorder

(B) Blood poisoning
(D) None of the above

12. The purest from of 1ron 1s
(A) Wrought 1ron (B) Cast 1ron
(C) Iron turning (D) Stainless steel

13. Malaria 1s caused by
(A) Plasmodium
(C) Cuiex mosquito

(B) Anopheles mosquito
(D) Bad air

14. Which one will you use to correct myopic vision 7

(A) Sphero-cylindrical lens

(B) Concave lens ot suitable focal length

(C) Convex lens of proper power

(D) Convex spectacle lens of suitable focal length

15. Solar energy 1s due to
(A) Nuclear fusion reaction (B) Chemical reaction
(C) Nuclear fission reaction (D) Burning of H

16. Which one of the following 1s the weakest force?
(A) Gravitational Force (B) Electromagnetic torce

(C) Nuclear force (D) Electrostatic force

1'7. The following animal has the similar vision as we

have
(A) Crow (B) Owl (C) Horse (D) Pigeon

18. What 1s increased in the stepdown transtformer?
(A) Voltage (B) Current
(C) Wattage (D) Current density

19. The genetic informations are carried by
(A) Protein (B) Fatty acids
(C) Nuclear acids (D) Carbohydrate
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20. When water cools from 7°C to 1°C —
(A) It contracts only

(B) It expands only

(C) It first contracts and then expands

(D) It first expands and then contracts

21. Weight of a man 1s more

(A) On the equator (B) At poles
(C) At the centre of the earth (D) In space

22. Blue colour of the sky 1s due to
(A) Retlection (B) Refraction

(C) Scattering (D) Dispersal

23. Which of the following is the hardest substance in

the human body?
(A) Bone (B) Enamel (C) Dentine (D) Nail

24. The following animal 1s called friend of farmer:
(A) Cow (B) Earthworm
(C) Rhizobium (D) Honey-bee

2004

1. The temperature of two bodies being equal means
(A) Their heat contents are the same

(B) When they are brought in contaet there will be no
exchange ot heat

(C) Their heat capacities are the same

(D) Their specitic heats are the same

2. When a helium atom loses an electron,it 1s converted

to a
(A) Proton (B)L-patical (C) deuteron (D) helium 1on

3. It the length and cross-section of a wire are both
doubled the resistance will

(A) 1ncrease times (B) decreases 4 times

(C) 1increase twice (D) remain unchanged

4. In stmple harmonic motion the Kinetic energy
(A) 1s never zero

(B) becomes zero twice 1n every period

(C) 1s zero 1n the meanposition

(D) 1s always constant

5. What 1s stored 1n a storage cell?
(A) Electric charge (B) Electric potential
(C) Lead or some other metal (D) Chemical energy

6. 10 gm. of ice at 0°C 1s mixed with 10 gm of water at
10°C. The temperature of the mixture will be
(A)I°C (B)5°C (C) 10°C (D) 0°C

7. The specific resistance of a conductor depends on its
(A) length (B) width
(C) temperature (D) shape of the crosss-section

8. When a ship enters the sea from a river, 1t floats up
because

(A) Sea water 1S warmer

(B) the speed of the ship on the sea 1s greater

(C) the density of the river water 1s greater

(D) salt water of the sea 1s denser

9. A raindrop falls 1n are with an uniform velocilty (A)
its potential energy remains constant

(B) its mechanical energy 1s conceryed

(C) 1ts mcehanical energy 1s being transfered of the
atmosphere

(D) the total energy of the drop and air drop and air
decays

10. Mass of a body 1s defined by the following quantity
(A) velocity/acceleration

(B) applied force/velocity

(C) applied force/acceleration

(D) applied force/increased in momentum

1 1. The period of rotation of an artificial earth satellite
(A) depends on its distance from the earth’s surface
(B) 1s proportional to its distance from the earth’s
centre

(C) 1s inversely proportional to 1ts mass
(D) 24 hours

12. The only vector quantity among the following 1s
(A) electric charge (B) electric potential
(C) electric field intensity (D) electric resistance

13. It a magnet 1s moved fast towards a coil, the
induced electromotive force does not depend on
(A) the number of turns of the coil

(B) pole strength of the magnet

(C) the speed of the magnet

(D) the resistance of the coil

14. In a p-type semiconductor, which 1s the main
carrier of electricity?
(A) Positive holes
(C) Electrons

(B) positive 10ns
(D) Negative 1ons

15. A ball 1s dropped from a given height. If its
collision with the ground 1s tully elastic, 1t will reach a
height

(A) less than before

(B) same as before

(C) more than before

(D) height will not depend on elasticity
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16. India’s air to air missile, which was successtully

testfired 1n 2003 1s
(A) Astra (B) Tejar (C) Vajra (D) Tejaswini

17. Of the following which 1s different from the others?

(A) Cathode rays (B) Photo electrons
(C) a-rays (D) Thermal electrons

18. In the solar spectrum Fraunhofer lines are seen 1n
the sodium D wavelength This proves

(A) there 1s no sodium 1n the sun

(B) there 1s no sodium 1n the solar atmosphere

(C) there 1s no sodium 1n sun’s interior

(D) thercis sodium 1n the solar atmospherer

19. The current on a 100W, 220V electric bulb 1s
(A) 2.2 amp. (B) 1.1 amp.
(C) 5/11 amp. (D) 22000 amp

20. If red light used to i1lluminate a green red leaf and a
flower, 1t will appear as

(A) Green leaf and red flower

(B) red leaf and red flower

(C) Black leaf and red flower

(D) black leaf and black tflower

21. The magnetic length of a bar magnet means
(A) 1ts total length (B) distance between its poles
(C) its width (D) distance of a pole from the centre

22. A rocket leaves the earth, lands on the moon and
returns to earth. It will reqire the maximum energy to
(A) rise from the earth (B) land on the moon

(C) rise from the moon (D) land on the earth

23. The production of shadow proves that

(A) light travels approxomately in straight lines
(B) light 1s an electromagnetic wave

(C) light 1s a type of particle

(D) light docs not diffract

24. A bimetallic strip of iron and brass bends while
heated because

(A) 1ron and brass have different specific heats

(B) their coetticients of linear expansion are different
(C) While heated their temperatures become different
(D) 1ron and brass become soft when heated

25. A piece ot stone to a string 1s being rotaed 1n a
vertical plane with constant angular velocity. The
tension of the string will be maximum when

(A) the stone 1s 1n the highest position

(B) the stone 1s 1n the lowest position

(C) the string 1s horizontal

(D) the tension 1s always the same

26. A magnitying glass or a simple microscope
produces a

(A) magnified real image

(B) virtual image near the eye, having the same size as
the obeject

(C) magnitied virtual image

(D) diminished virtual 1mage

2005

1.Which one of these 1s not a measuring instrument?
(A) Barometer (B) Thermometer
(C) Picorneter (D) Hygrometer

2. According to Darwin the unit of Natural Selection 1s
(A) Individual (B) Family (C) Genus (D) Species

3.Which one of the following plants keep its stomata

open during night and closed during the day?
(A) Water Lily (B) Cactus (C) Sun tlower (D) Fern

4. The main function of nor epinephrine 1s to
(A)increase blood pressure (B)increase urine formation
(O)increase cellular respiration (D)release epinephrine

5.Which one of the follwing plant tissues 1s composed

of dead cells?
(A) Xylem
(C) Parenchyma

(B) Phloem
(D) Hypodermis

6.Which one of the tollowing blood-group bearing
persons 1s called a universal donor?
(A)A (B)B (C) AB (D) O

7.The largest reservoir of Nitrogen on Earth 1s
(A) So1l  (B) Arr (C) Ocean (D) Rock

8.Which one of the tollowing is 1n the mixture ot
sympathetic ink?

(A) Cobalt chloride and water

(B) Zinc chloride and water

(C) Magnesium chloride and water

(D) None of the above

9.Both ends of the tube of a Telescope have
(A) convex lens (B) concave lens
(C) piano convex lens (D) pi1ano concave lens

10.According to cellular structure which one of the

follow 1ng 1s most complex?
(A) Bacteria (B) Protozoa(C) Algae (D) Fungi

1 1.Plants store glucose 1n the torm of
(A) Monosaccharide  (B) Cellulose
(C) Starch (D) Glycogen
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12. The amount of blood in the blood circulatory system
of a man 1s
(A) one litre (B) two litres (C) five litres (D) ten litres

13. The process by which the gas comes out of an
L.P.G. Cylinder 1s called

(A) Diffusion (B) Etfusion

(C) Pressure (D) Ventilation

14.0t the twenty amino acids how many are considered

essential?
(A) Six (B) Eight (C) Twelve (D) Fourteen

15.Dentists use
(A) Special Mirror (B) Plane Mirror

(C) Concave Mirror (D) ConvexMirror

16.Cholesterol 1s a/an
(A) Saturated fat
(C) Steroid

(B) Unsaturated fat
(D) Diglyceride

17.Which one of the following animals possess least
number of body segments?

(A) Flat worm (B) Earth worm

(C) Prawn (D) Cockroach

18.Sweat, saliva and tear contain an enzyme called
Lysozyme. It kills

(A) Virus infected cells (B) Protozoa

(C) Bacteria (D) Virus

19.Antibodies are synthesized by
(A) Bone marrow (B) Plasma and Lymph
(C) Liver (D) Kidney

20.The first hormone produced by Genetic Engineering
1S

(A) Estrogen
(C) Thyroxin

(B) Testosterone
(D) Insulin

21.X-ray fail to pass through
(A)Flesh (B) Bone (C)Iron (D) Gold

22.The scientific name of Vitamin 'C'1s
(A) Acetic acid (B) Muriatic acid
(C) Ascorbic acid (D) Lactic acid

2006

1. "Hubble  1s a

(A) Nuclear weapon  (B) Musical instrument
(C) Space telescope (D) Star

2. In plants, the receptor for detecting photoperiod 1s
(A) Sensory cell (B) Sensory organelles
(C) Protein molecule (D) gradient of K

3. Urea 1s produced 1n the body of man 1n
(A) Liver (B) Urinary Bladder
(C) Kidney (D) Hemoglobin

4. Two balls at the same temperature collide. What 1s
conserved’

(A) Temperature

(C) Linear momentum

(B) Velocity
(D) Kinetic energy

5. Fruit tall can be prevented by spraying
(A) IAA (B) Abscisic acid (C) Cytokinins (D) NAA

6. Restriction enzymes are synthesized by
(A) All eukaryotic cells (B) Yeast and bacteria only
(C) Bacteria only (D) All cells

7. Primary and Secondary growth are inhibited by
(A) Auxin (B) Gibberelins
(C) Abscisic acid (D) Cytokinins

8. Materials like Germanium and Silicon are called (A)
Insulators (B) Conductors

(C) Metals (D) Semi-conductors

9. The surftace of water 1n a lake 1s going to freeze. The

temperature of water at the bottom 1s
(A) 0°C (B) Less than 4°C (C) 4°C (D) More than 4°C

10. Connecting link between reptiles and birds 1s
(A) Archeopteryx (B) Platypus
(C) Java Apeman (D) Whale

11. Which of the following 1s not a kidney function?
(A) Ultra filtration (B) Tubular Reabsorption
(C) Tubular Secretion (D) Phagocytosis

12. Spectral lines of the hydrogen atom corresponding
to emissions 1n the ultraviolet region 1s

(A) Lyman series (B) Balmer series

(C) Brackett series (D) Paschen series

13. The value of acceleration due to gravity at higher
altitudes,

(A) Decreases (B) Increases

(C) Remains constant (D) None of the above

14. The nature of motion of a sewing machine 1s
(A) Circular motion (B) Translational motion
(C) Oscillatory motion (D) Rotational motion

15. The value of acceleration due to gravity at higher
altitudes,

(A) Decreases (B) Increases

(C) Remains constant (D) None of the above
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16. The nature of motion of a sewing machine 1s
(A) Circular motion (B) Translational motion
(C) Oscillatory motion (D) Rotational motion

1”7. Coconut inflorescence 1s
(A) Racemose (B) Hvpanthodium
(C) Cyathium (D) Spadix

18. The process of joining two or more blocks of ice by
pressing each other 1s called

(A) Refrigeration (B) Radiation

(C) Revelation (D) None of the above

19. Ethyl alcohol 1s completely miscible with water. It
can be separated from that mixture by

(A) Using a separating tunnel

(B) Evaporation

(C) Fractional distillation

(D) Allowing the water to evaporate.

20. Loop of Henle lies 1n the.
(A) Cortex (B) Medulla (C) Renal Pelvis (D) Ureter

21. Hydrogen peroxide has the same number of
electrons as

(A) HCHO (B)CH3O0H (C)CH2 = CH2 (D)CH2CHO

22. A viral disease 1S
(A) Cancer

(C) Typhoid

(B) Leukemia
(D) Yellow Fever

23. Which one 1s not a protozoa®?
(A) Hydra (B) Euglena (C) Amoeba (D) Paramaecium

2007

1. Agni III 1s

(A) Inter Continental Ballistic Missile

(B) Intermediate range Ballistic Missile
(C) Submarine Launched Ballistic Missile
(D) Short Range Ballistic Missile

2. The phytohormone responsible for senescence
(A) Cytokinin (B) Auxin
(C) Gibberellin (D) Ethylene

3. Neutron was discovered by
(A) J. Chadwick (B) J.J Thomson
(C) Ruthertord (D) Neil Bohr

4. Which one of the following 1s not a hereditary
disease in man?

(A) Hemophilia (B) Color blindness
(C) Alzhemmer's disease (D) Down's syndrome

5. When a body 1s lifted by hand, what type of work 1s
pertormed by hand?

(A) First type of lever (B) Second type of lever

(C) Thard type lever (D) Simple machine

6. The white vitriol is
(A) FeSO4 ,7H20
(C) MgSO4 ,7H2,0

(B)ZnSO4 [7TH20
(D)CuS0O4 ,5H20

7. Ecological niche 1s the

(A) Biotic component 1n an ecosystem
(B) Abiotic component 1n an ecosystem
(C) both (A) and (B) above

(D) None of the above

8. Iron 1s not dissolved 1n
(A) Hot dil. NSO4 (B) cold dil. HNO3
(C) Fuming HNO3 (D) None of the above

9. The screen ot a cinema hall 1s always white and
rough. Because light rays of all colors falling on the
screen sutter

(A) total absorption
(C) Refraction

(B) total retlection
(D) scattering

10. A virion 18

(A) Infective particle of virus

(B) Intective particle of bacteriophage
(C) Infective stage of virus

(D) None of the above

11. Which one ot the tour following substances
contribute most of the causation ot greenhouse ettect in
nature ?

(A) Carbon di-oxide  (B) Hydrogen tlouride

(C) Carbon monoxide (D) Sulphur di-oxide

12. A peduncle 1s a
(A) Stalk of tflower

(C) Stalk of a fruait

(B) Stalk of a leaf
(D) None of the above

13. Oxidation number of oxygen in superoxide 18
(A)O (B)-1/2 (O)-1 (D)+2

14. What 1s the main property of mercury for using it in
a clinical thermometer ?

(A) Good conductor of heat (B) High density

(C) Good Conductor of electricity (D) Easily available

15. The Kala-azar disease in man 1s spread by the bite
of a

(A) Culex mosquito
(C) Climex bed-bug

(B) Phleboromous sandftly
(D) Sarcoptes mite

16. Milk 1s an example of
(A) emulsion (B)gel (C)foam (D) sol
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17. The genetic make-up of a normal human male
consists of

(A) XY Chromosomes (B) XO Chromosomes
(C) XX Chromosomes (D) XX0O Chromosomes

18. All food tins 1n nature begin at the producer level
and all end at the decompose level. Which of die
following 1s be producer 1in a pond ecosystem?

(A) Phytoplankton (B) Zooplankton

(C) Herbivores (D) Carnivores

19. A plant virus causing disease of the vegetables:
(A) Tobacco Mosaic virus

(B) Cauliflower Mosaic virus

(C) Adenovirus

(D) None of the above

20.Which ot the following substances can act as only
reducing agent?
(A) H202 (B) MnO2 (C) K2Cr202 (D) H2S

21. Chemically Sporopollenin is a

(A) Co-polymer of carotenoids & fatty acid
(B) Carbohydrate

(C) Protein

(D) Lactic acid

22. Charnocite 1S
(A) Nilgir1 gneiss
(C) Found 1n Jharkhand

(B) A Gemstone
(D) A glacier

23. The motion of which particle through a metallic

wire 1s called electric current ?
(A) Electron (B) Positron (C) Neutron (D) Photon

24. At what temperature, mass of pure water ot volume
| cubic centimeter1s 1 gm?

(A) 0°C (B) 100°C (C)4°C (D) 10°C

25. When a loaded and an empty truck of identical
specifications are moving with same velocity, more
force 1s required to stop the loaded truck. Which of the
following laws 1s proved by this action?

(A) Newton's first law of motion

(B) Newton's second law of motion

(C) Newton's third law of motion

(D) Gravitational law

26. When a body 1s raised upwards from the surface of
the earth, 1ts weight shall

(A) Increase (B) remain same
(C) Decrease (D) fluctuate

2008

1. The resistance of which ot the tollowing decreases

with the rise of temperature ?
(A) Copper (B) Iron (C) Silicon (D) Mercury

2. Amount of blood pumped by an adult hearteper hour
1s about
(A) 150 litre (B) 200 litre (C) 300 litre (D) 340 litre

3. A bacterium differs from virus with respect to
(A) DNA (B)RNA
(C) Both RNA and DNA (D) None of the above

4. Movies exemplity the
(A) Pi-phenomenon (B) Antikinetic effect
(C) Saccadic movement (D) Purkinjee shaft

. A father teeds his baby, he smiles and babbles
encouragingly. The father’s babbling could be
considered

(A) Primary reinforcement

(B) Secondary reintorcement

(C) Classical conditioning

(D) Contiguity learning

6. The weight ot a body on the surtace of the earth 1s

10kg. Its weight at the centre of the earth 1s
(A)Okg. (B)Skg. (C)10kg (D) Infinite

7. The instrument used for measuring blood pressure 1s
called
A) Barometer

(C) Tonometer

(B) Sphygmomanometer
(D) None of the above

8. The behaviour of energy in ecosystem can be
conveniently termed as energy tlow because

(A) Energy transtformations are multidirectional in
nature

(B) Energy 1s the denominator of all kinds of system

(C) Energy transformations are one way indirection
(D) None of the above

9. Complete loss of memory 1s termed
(A) Trauma (B) Amnesia (C) Coma (D) Paranesia

10. Pneumatophores are

(A) Pneumonia victims of Sundarbans
(B) Marshy areas ot Sundarbans

(C) Stems of Sundari trees

(D) Breathing roots of mangroves
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11. The resistance of a 200 V-100 W bulb 1s

(A) 400 Q)

(B) 400 € only when 1t 1s connected to 200 volt mains
(C) 400 Q when 1t 1s not glowing

(D) 2 Q)

12. The ingredient that assists clotting of blood 1s
(A) Vitamin A (B) Folic acid

(C) Vitamin D (D) Vitamin K

13. The causative organism of malignant malaria in
human being 1s

(A) Plasmodium vivax  (B) Plasmodium falciparum
(C) Plasmodium malarie (D) Plasmodium ovale

14. The nitrogen base absent in DNA
(A) Uracil (B) Adenine (C) Thymine (D) Cytosine

15. Succinic acid dehydrogenase to give
(A) Malic acid (B) Formic acid
(C) Iso-citric acid (D) Fumeric acid

16. Sttmulating the occipital area of the brain produces

sensations of
(A) Vision (B) Taste (C) Motion (D) Touch

17. False belif which cannot be shaken by reason 1s

termed
(A) Delusion (B) Fantasy
(C) Illusion (D) Hallucination

18. Which one of the following 1s not an
electromagnetic wave?

(A) Radio wave (B) X-ray

(C) Visible light (D) Sound wave

19. Ribosomes play a signiticant role in
(A) Photosyntheis (B) Protein synthesis
(C) Lipid synthesis (D) Respiration

20. The Greenhouse eftect gases trap only die feat of
following radiations:

(A) Ultraviolet (B) Infrared

(C) Solar (D) Both (A) and (B)

21. To study the development of a child at different
ages, the most appropriatemethod of investigation 1s
(A) Longitudinal (B) Correlational

(C) Naturalistic (D) Cross-sectional

22. The starting point in thinking
(A) Goal (B) Contlict (C) Drive (D) Tension

23. Two ends of tube 1s closed by corks so that the tube
becomes airtight. The pressure ot air inside the closed
tube 1s

(A) Very small

(B) Slightly less than the atmospheric pressure

(C) Equal to the atmospheric pressure

(D) Dependent on the length of the tube

24. Name of a insectivorous plant

(A) Gulancha (B) Nayantara

(C) Basak (D) Pitcher Plant

25. Which of the following 1s not a stimulant ?
(A) Caftine (B) Barbiturates

(C) Cocaine (D) Amphetamines

26. The primary colours of light are
(A) Red, green, blue, yellow (B) Red, blue, green
(C) Yellow, blue, red, grey (D) None of the above

2’]. The view finder of a motor car 1s a
(A) Plane mirror (B) Concave mirror

(C) Convex mirror (D) Convex lens

28. Cancer 1s.caused by activation of genes
(A) Regulatory genes (B) Oncogenes
(C) Structural genes (D) Jumping genes

29. Pakinson's disease 1s characterised by the loss ot
nerve cells 1n the

(A) Cingulate cortex  (B) Substantia nigra

(C) Reticular formation (D) Cerebral cortex

30. The concept that asserts that people perform better
when they are in competition than when they are alone
1s called

(A) Social facilitation (B) Social comparison

(C) Group dynamics (D) Social reality

31. Most patients hospitalised for mental disorders
suffer from

(A) Neurosis (B) Depression

(C) Hysteria (D) Schizophrenia

32. Radioactive decay of uranium produces
(A) Arsenic (B) Bismuth (C) Lead (D) Tin

33. Flowers without petals are pollinated by
(A) Bees (B) Birds (C) Buttertlies (D) Wind

34. Predisposing cause of a disease are referred to as
(A) Ethnology (B) Ecology
(C) Etiology (D) Environmental factors
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35. The biochemical processes taking place in the body
1S known as .

(A) Anabolism
(C) Metabolism

(B) Catabolism
(D) None of the above

36. RNA of retrovirus can produce DNA by
(A) DNA polymerase (B) RNA polymerase
(C) Endonuclease (D) Reverse transcriptase

3’7. The intermediate host of Lefshmania donovani 1s
(A) Sand tly (B) Tse-tse tly
(C) Dragon tly (D) Anopheles mosquito

38. Of the patients with the following diagnosis, which
1s most likely to voluntarily commence psychotherapy?
(A) The patient with depressive reaction

(B) The patient with anxiety disorder

(C) The patient with phobia

(D) The patient with personality disorder

39. Gardener’s theory of intelligence does not
recognize which of the following types of intelligence?
(A) Social skills (B) Language skills

(C) Musical skalls (D) G-factor

2009

1. The weight of an object is

(A) Maximum at the centre of the earth

(B) Maximum at infinity

(C) Maximum at the surface of the earth

(D) Name everywhere from the center of the earth to
infinity

2. At constant temperature it the pressure decreases,
then the volume of a given mass ot gas will

(A) Increase

(B) Decrease

(C) Remain constant

(D) May increase or decrease depending on nature of
the gas

3. A small quantity of water 1s placed 1n a small cavity
made 1n a block of 1ce at 0°C. What will happen to the
water

(A) The water will freeze to 1ce at 0°C

(B) There will be no change 1n the temperature ot
water

(C) The temperature of water will decrease to 0°C but
it will not freeze

(D) The water will freeze to 1ce 1f the block of 1ce 1s
large compared to the mass ot water

4. The walls of a music hall should

(A) Transmit sound (B) Absorb sound

(C) Retlect sound (D) Amplify sound

5. The electromagnetic radiation that 1s emitted during
the radio-active disintegration 1s

(A) X-rays (B) y-rays

(C) Ultraviolet rays (D) Infra-red rays

6. Normal saline 1s an aquous solution of sodium

chloride of strength
(A) 0.834 % (B) 1.00 normal
(C) 1.00 molar (D) 1 %

7. How much per cent of human body 1s water by
weight ?
(A)66 (B)50 (C) 33 (D) 10

8. lodine 1s administered to patients sufttering from
(A) Goitre (B) Night blindness
(C) Ricket (D) Rheumatism

9. Fullerene 1s

(A) An allotrope ot carbon

(B) A synonym for carborundum
(C) Artifical emery

(D) A compound of carbon

10. The reaction that occurs 1n nuclear reactors 1S
(A) Nuclear fusion (B) Spallation
(C) Nuclear fission (D) Nuclear 1somerization

11. Vitamin C 1s

(A) Tocopherol (B) Cyanocobaltammine
(C) Ascorbic acid (D) Thiamine

12. Green house ettect 1s caused by addition of too
much ot this compound in atmosphere.

(A) Carbon di-oxide (B) Ammonia

(C) Water vapour (D) Dust particles
13. Edible portion of coconut 1s the

(A) Fruit wall (B) Endosperm

(C) Cotyledon (D) Embryo

14. From which part of Cinchona plant quinine 1s
obtained ?
(A) Seed (B) Leaf (C) Flower (D) Bark
15. During Vietnam War 2, 4, 5-trichlorophenoxy—
acetic acid (2, 4, 5-T), the so-called Agent Orange was
sprayed on forests to

(A) Destroy Crops

(B) Pollute Air

(C) Remove leaves and reveal enemy hiding places

(D) Start forest fire
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16. Malaria Parasite can best be obtained from blood
of 1ts patient:

(A) One hour betore rise of temperature

(B) Five hours after temperature

(C) When temperature rise with rigor

(D) Any time

1'7. Which of the following vitamins forms the
prosthetic group of acyl-COA dehydrogenage ?
(A) Nicotinic acid (B) Pyridoxine
(C) Pantothenic acid (D) Riboflavin

18. Name the execratory organ of prawn
(A) Salivary gland (B) Green gland
(C) Ink gland (D) Malpighian tubule

19. Ruminant Stomach 1s possessed by
(A) Cow (B) Dog
(C) Pigeon (D) Cameleon

2010
1. Rate of radiation of heat from a body 1s the highest
it 1ts surface 1s

(A) White

(C) Smooth but black

(B) Smooth
(D) Rough but black

2. The gene tor Haemophilia 1s
(A) X-linked recessive (B) X-linked dominant

(C) Y-linked (D) Located 1n autosome

3. The narrow portion between uterus and vagina ot
higher mammals 1s known as

(A) Clitoris (B) Urethra

(C) Oviduct (D) Cervix

4. The toxic chemical element that caused Minamata
disease 1n Japan was
(A) Uranium

(C) Cadmium

(B) Mercury
(D) Arsenic

5. The vegetative body of a dryophyte/moss represents

the structure of

(A) Sporophyte

(B) Gametophyte

(C) Sporophyte or gametophyte
(D) Sporophyte and gametophyte

6. Enzymes speed up biochemical reactions by
(A) Increasing the activation energy of the reaction
(B) Lowering the temperature of the reaction

(C) Increasing the temperature ot the reaction

(D) Lowering the activation energy of the reaction

7. Cardiac muscles do not undergo fatigue, because
(A) Interconnection of cells by intercalated disc

(B) Having numerous mitochondria

(C) Having more actins

(D) Having more myosin

8. The minimum number of artificial satellites required
for communication throughout the globe 1s

Al B2 ©3 [D4

9. In photosynthesis, 'Light reaction’ takes place in
(A) Cytosol (B) Grana of Chloroplast

(C) Stroma of chloroplast (D) Ribosome

10. Haversian system 1s a part of
(A) Kidney (B) Bone (C) Heart (D) Brain

11. Which of the following is a good nuclear fuel ?
(A) Uranium 238 (B) Plutonium 239
(C) Neptunium 239 (D) Thorium 236

12. Which of the following is not a physical change ?
(A) Dehydrating milk to get milk powder

(B) Sublimation of 10dine

(C) Dissolving sugar 1n tea

(D) Burning of wax 1n a candle

13. Polytene chromosome 1s found 1n the cells of
(A) Salivary gland of larvae of tlies
(B) Liver of man

(C) Neuron of 1nsects
(D) None of the above

15. Presence of sunken stomata in leaves indicates the
character of

(A) Hydrophytes
(C) Halophytes

(B) Xerophytes
(D) Mesophytes

16. Which Carbodydrate 1s used commercially 1n the
silvering of mirrors ?

(A) Sucrose
(C) Cellulose

(B) Fructose
(D) Glucose

17. Which metal 10n 1s responsible for electron
transportation 1n photosynthesis ?

(A) Sodium (B) Potassium

(C) Cobalt (D) Iron

18. The technique of 'DNA sequencing' was
discovered by

(A) H. G. Khorana (B) Watson and Crick
(C) Frederick Sanger (D) E. M. Southern
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19. A Cladogram depicts the hypothesis of
(A) Evolutionary relationship

(B) Phenatic relationship

(C) Genetic relationship

(D) Taxonomic relationship

20. Consider the following statement

(1) Definition of force 1s obtained from Newton's first
law of motion.

(2) Definition of force 1s obtained from Newton's
second law of motion.

(3) In a house-hold wiring the appliances are connected
In Series.

(4) The picture-tube of a television 1s basically a
cathode ray tube.

(A) Only 1 1s correct

(B) Only 2 1s correct

(C) Only 2 and 4 are correct

(D) Only 1 and 4 are correct

21. Electrical energy 1s converted into mechanical

energy by a
(A) Thermostat (B) Motor
(C) Dynamo (D) Rectifier

22. A piece of cotton cloth gets wet 1f one end of it 1s
dipped 1n water 1n a glass. This 1s due to

(A) Gravitation (B) Viscosity

(C) Elasticity (D) Capillarity

23. AIDS/HIV virus 1s a type of
(A) DNA virus

(B) RNA virus

(C) Either DNA or RNA virus
(D) Both DNA and RNA virus

24. In respiration, cytosol plays a signiticant role in
(A) Oxidative phosphorylation

(B) Oxidative decarboxylation of pyruvic acid

(C) Krebs cycle

(D) Glycolysis

25. An alloy contains 20% zinc, 45% nickel and rest
aluminium. The total mass 1n gm of the alloy

containing 105 gm of aluminium 1s
(A) 170 (B) 200 (C) 250 (D) 300

2011

1. An example ot a scalar quantity 1s
(A) Velocity (B) Force (C) Momentum (D) Energy

2. The first metal discovered by man was

(A) Iron (B) Alummium  (C) Zinc (D) Copper

3. A piece of metal plate with a circular hole 1s
heated. If the metal plate expands on heating, the
diameter of the hole will

(A) Increase

(B) Decrease

(C) Increase or decrease depending on the diameter of
the hole

(D) Increase or decrease depending upon the material
of the plate

4. The volume of a vessel containing an 1deal gas 1s
doubled and 1ts temperature (1in °K) 1s also doubled.
The pressure of the gas

(A) Remains unchanged

(B) Is doubled

(C) Is one-fourth of the original pressure

(D) Is four times the original pressure

5. A spring has length | and spring constant K. It 1s cut
into two pieces of lengths 11 and 12 . It 11 = nl2 , the
spring constant of the spring of length 11 1s

(A) K(1+ n)/n (B) K(I + n)

(C) Kn/(1 + n) (D) K/(1 + n)

6. Two copper wires A and B have the same weiglit
and the radius of B 1s half that of A . The ratio RA/RB

of their resistances 1S
(A) 1/4 (B) 1/8 (C) 1/16 (D) 1/2

7. The nuclear reaction involved 1n a nuclear reactor 1s
(A) Fission (B) Fusion
(C) Spallation (D) Neutron absorption

8. Dimension of gravitational constant 1s
(A) cm4 sec-1 gm-2 (B) cm sec-3 gm-2
(C) cm3 sec-2 gm-1 (D) gm cm-3 sec-2

9. The minimum distance between an object and its
real image 1n a convex lens 1s

(A) More than 4f (B) Less than 41

(C) Equal to 2f (D) Equal to 41

10. Which one of the following 1s an endemic plant ?

(A) Quercus Incana (B) Eleusine Coracana
(C) Phoenix Paludosa (D) Kydia Calycina

11. Name one rootless plant.
(A) Ceratophyllum (B) Eichhornia
(C) Monochoria (D) Pisti

12. Watson and Crick are famous for their discovery ot
(A) Life history of Plasmodium Vivax

(B) Vaccinia

(C) Structure of DNA

(D) Antibodies
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13. Vulcanisation 1s the process of heating rubber with

3-5% of
(A) Sulphur (B) Lime
(C) Potassium permanganate (D) Naphthalene

14. Nerve cells originate from the embryonic
(A) Ectoderm (B) Endoderm
(C) Mesoderm (D) Both endo and mesoderm

15. The number of amino acids occurring in nature 1s
(A)1IO  (B)20 (C)30 (D)40

16. Which of the following 1s an unmatching group ?
(A) Cray fish, cuttle tfish and hag fish

(B) Star fish, sea urchin and sea cucumber

(C) Cockroach, crab and spider

(D) Whale, lizard and frog

17. The smallest size of a cell which can be seen with
unaided eye 1s

(A) One micron
(C) 100 microns

(B) 10 microns
(D) 1000 microns

18. 'Sal'1s a type of
(A) Coniferous tree
(C) Mangrove

(B) Evergreen tree
(D) Deciduous tree

19. The gastric glands in the stomach produce an
enzyme

(A) Insulin (B) Ptyalin  (C) Pepsin (D) Trypsin

20. Which of the following 1s a terrestrial algae ?
(A) Chlorella (B) Terentepohlia
(C) Spirullina (D) Sargassum

21. Ozone depletion in Antarctica 1s caused by the
formation of

(A) Nitrogen dioxide  (B) Sulphur dioxide

(C) Freon (D) Chlorine nitrate

22. Brass is an alloy of
(A) Iron and Copper (B) Copper and Tin
(C) Copper and Aluminium (D) Copper and Zinc

23. Lowest rate of photosynthesis takes place 1n
(A) Blue light (B) Orange light
(C) Green light (D) Red light

24. Which pollutant ot the atmosphere inhibits the Hill

reaction of photosynthesis ?
(A) Per acetyl nitrate  (B) Nitrogen monoxide
(C) Ultra violet rays (D) Hydrocarbon

25. Essential constituent of plant cell 1s the
carbohydrate,
(A) Cellulose (B) Sucrose (C) Starch (D) Lignin

2012

I. Adult Filaria worms live in human
(A) Blood (B) Lymphatics
(C) Liver (D) Intestine

2. The disease caused due to lack of ADH
(A) Diabetes insipidus (B) Di1abetes mellitus
(C) Grave's disease (D) Cushing's disease

3. The animal group that 1s not found 1n marine water
(A) Mammals (B) Amphibia
(C) Reptiles (D) Aves

4. Normal human blood 1s
(A) Acidic (B) Alkaline (C) Neutral (D) Variable

5. The non-poisonous snake 1s :
(A) Viper (B) Krait (C) Python (D) Coral Snake

6. Which one of the following 1s a viral disease ?
(A) Trypanosomiasis  (B) Giardiasis

(C) Encephalitis (D) Oriental sore
/. The material extracted from bauxite 1s—
(A) Aluminium (B) Alumunia

(C) Biotite mica (D) Chalcopyrite

8. Which of the following 1s not the unit of length ?
(A) Light year (B) Micron (C) AU (D) Radian

9. Absolute Zero temparature 1s that tempararture
where :

(A) Water freezes to 1ce

(B) All molecules of water comes to rest

(C) All matter stays 1n the solid state

(D) Kinetic and potential energies of the molecules
become equal to each other

10. Gold has extraordinarily high density than silver,
the reason 1s :

(A) Higher mass number ot gold

(B) Higher atomic number ot gold

(C) High screening effect

(D) Lanthanide contraction

11. When a positively charged conductor 1s earthed,
then -

(A) Electrons flow from conductor to earth

(B) Protons flow from conductor to earth

(C) Electrons flow from earth to conductor

(D) Protons flow from earth to conductor
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12. The total mass of all the organisms of a given type
and/or 1n a given area 1s called

(A) Biome (B) Biomass

(C) Biomarer (D) Biosensor

13. The plant body 1s not 'differentiated into root, stem
and leaves' in

(A) Pteridophytes
(C) Gymnosperms

(B) Angiosperms
(D) Algae

2013

1. Dyne-sec, stands for the unit of :
(A) Force (B) Momentum (C) Energy (D) Power

2. Seismograph 1s :

(A) An instrument for photographing clouds

(B) An instrument for recording earthquake tremors
(C) An instrument for measuring depths of seawater
(D) A device tor recording changes in the atmospheric
pressure

3. For the same Kinetic energy, the momentum shall
be maximum for :
(A) Electron
(C) Deuteron

(B) Proton
(D) Alpha particle

4. An ice cube containing a large bubble of air 1s
floating in water contained 1n a large beaker. When the
ice melts completely, the level of water will :

(A) Remain unchanged

(B) Go down
(C) Rise
(D) First rise and then go down

5. Water 1s boiling in a tlask over a burner. To reduce
its boiling temperature one must —

(A) Reduce the surrounding temperature

(B) Connect the mouth of the flask to an evacuating
system

(C) Supply heat from a less intense source

(D) Connect the mouth of the flask to a compressor

6. One of the break through of Acharya P. C. Roy was
to synthesize the following compound :

(A)HgCl2 (B)HgO (C)Hg2Cl2 (D) H204

7. Whose presence 1n drinking water 1s welcome ?
(A)K (B)Ca (C)As (D)Fe

8. Instruments can be shielded from the effects of
external magnetic fields by surrounding them with —
(A) A glass shield (B) A rubber shield

(C) A brass shield (D) An 1ron shield

0. Muriatic acid used 1n household work 1s diluted
form of —

(A) Acetic acid
(C) Oxalic acid

(B) Hydrochloric acid
(D) Aqua regia

10. Which of the following gasses 1s most responsible
for recent death in AMRI, Kolkata ?

(A) Carbon dioxide (B) Carbon monoxide

(C) Methane (D) Hydrogen sulfide

11. Which metal 10n 1s associated with Haemoglobin ?
(A) Mg++ (B) Fe++ (C) Al+++ (D) Mn++

12. Phenyl used 1in household work 1s a derivative of
(A) Methyl alcohol (B) Tartaric acid
(C) Benzene (D) Anthracene

13. Endemic plants are those which grow in —
(A) Fresh water lakes (B) Shady places
(C) On other plants (D) Geographically limited areas

14. In angiosperm, triple fusion 1s required for the
formation of —
(A) Embryo
(C) Suspensor

(B) Endosperm
(D) Pericarp

15. Spraying of DDT 1n crop plants produces pollution
of —

(A) Air only (B) Air and soil only

(C) Aur, so1l and water only (D) Air and water only

16. Oil 1s obtained from the endosperm of —
(A) Groundnut (B) Coconut
(C) Mustard (D) Sesame

17. The number of cervical vertebrae in mammal 1s
(A) 7 (B) 17 (C) 77 (D) 11

18. Limbless Amphibia belongs to the order —
(A) Urodela (B) Anura

(C) Gymnophiona (D) None of the above

19. Birds differ from bat 1n the absence of —
(A) Warm blood (B) Four chambered heart
(C) Trachea (D) Diaphragm

20. Portion of the carapace which covers the gill of
prawn 1S kKnown as —

(A) Bronchus (B) Branchiostega membrane
(C) Branchiostegite (D) Branchiostegal spine

21. Which one of the following 1s a rich source of
amylase ?
(A) Brain (B) Blood (C) Thyroid (D) Pancreas
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22. The Indian nuclear capable surtace-to-surface
missile that was test fired from wheeler Island on 19th
September, 2012, was —

(A) Agni 111 (B) Agm 1V

(C) Agm1 V (D) Prithvi 111

23. 'Higgs Boson'1s :

(A) Name of a film

(B) An elementary particle

(C) Generic name of a medicine
(D) Planet

2014

1. Compound microscope has

(A) two lenses

(B) requires UV light source

(C) used to view only dead organisms
(D) requires large room space

2. The stage of mitosis in which chromosomes become

V, J, L or I shaped ?
(A) Prophase
(C) Anaphase

(B) Metaphase
(D) Telophase

3. The digested food 1s absorbed 1n
(A) Stomach (B) Intestine (small)
(C) Intestine (large) (D) Colon

4. Rhizome 1s a modified stern because

(A) 1t grows vertically upward in the soil and 1t has
fleshy leaves.

(B) 1t has nodes and 1t has eyes which bears
germinating buds.

(C) 1ts stem 1s highly condensed and disc like.

(D) 1t has nodes, internodes and has brown, scaly
leaves.

5. The longest cell 1n animals 1s
(A) Nerve cell (B) Hepatocyte (Liver cell)
(C) Blood cell (D) Muscle cell

6. The 1identitying features ot carrot roots are
(A) Conical with small roots.

(B) Conical without small roots.

(C) Round with small roots.

(D) Irregular with no small roots.

7. INS Vikramaditya 1s

(A) a nuclear powered submarine
(B) an aircraft carrier

(C) a leander class frigate

(D) a patrol boat

8. Which one of the following 1s a medium range
missile ?
(A) Akash (B) Prithvi (C) Agm (D) Brahmos

9. Which of the rays 1s most dangerous ?

(A) Alpha ray (B) Beta ray
(C) Gama ray (D) X-ray
10. Light year 1s a unit of

(A) Time (B) Distance

(C) Light (D) Intensity of light

11. RADAR 1s used for

(A) locating submerged submarines.

(B) receiving signals 1n a radio receiver.

(C) locating geostationary satellites.

(D) detecting and locating the position of objects such
as aeroplane.

12. Sound waves 1n air are
(A) Transverse (B) Longitudinal
(C) Electromagnetic (D) Polarized

13. LCD stands for
(A) Liquid Crystal Display (B) Low Current Display
(C) Light Circuit Display (D) None of the above

14. The most malleable metal 1s
(A) Platinum (B) Silver (C) Iron (D) Gold

15. Basically domestic electric wiring 1s a
(A) parallel connection
(B) series connection

(C) combination of series and parallel connections
(D) None of the above

16. The heat required to raise the temperature of a
body by 1K 1s called

(A) Specific heat (B) Thermal capacity
(C) Water equivalent (D) None of the above

17. The most abundant rare gas in the atmosphere 1s
(A) Helium (B) Neon (C) Argon (D) Xenon

18. Washing soda 1s the common name for

(A) Sodium carbonate (B) Calcium carbonate
(C) Sodium bicarbonate (D) Sodium hydroxide

19. Optical fiber works on the
(A) Principle of Retraction
(B) Total Internal Reflection
(C) Scattering

(D) Reflection

20. The number of electrons present in H 1s
(A) Zero (B) One (C) Two (D) Three
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21. Which one ot the following 1s a protein deficiency
disease ?

(A) Pellagra

(C) Kwashiorkor

(B) Ricket
(D) Retinoblastoma

22. Clove 1s obtained from

(A) Root (B) Stem (C) Leat (D) Flower bud

23. Which one of the following 1s not a true fruit ?
(A) Date (B) Plum (C) Apple (D) Grape

24. AIDS 1s caused by
(A) Bacterita (B) Virus (C) Protozoa (D) Helminth

25. Monocotyledonous plants show which of the
following feature ?

(A) Leaf shows reticulate venation

(B) Tap root system

(C) Flowers are trimerous

(D) Perennial growth

20135

1. Three of the following four are alike 1n a certain
way and so form a group. Which 1s the one that does
not belong to that group ?
(A) Cheese (B) Milk (C) Curd (D) Ghee
2. The solar cooker works on the same principle as
(A) Bolometer (B) Pyrometer

(C) Greenhouse (D) Galvanometer

3. Hydraulic press 1s based on
(A) Archimedes' law

(C) Reynold's law

(B) Pascal's law
(D) Bernoul1 law

4. LED stands tor

(A) Light emitting device
(B) Light emitting diode

(C) light encapsulated device
(D) light emitting dots

5. At what temperature, Celcius and Fahrenheit

readings will be same ?

(A)+40°  (B)+20° (©)-20° (D)-40°

6. Mg is isoelectronic with
(A) Ca*t (B) Nat  (C)Zn** (D) Cu?

7. Hybridization of C2 and C3 of
CMNHM3-CM2H-C"3-CMH-C/5SH”3 are

(A) sp sp3
(C) sp2 sp2

(B) sp2 sp
(D) sp sp

8. When a ball 1s taken from the equator to the pole of
the earth

(A) Its mass increases

(B) Both its mass and weight change

(C) Its weight increases

(D) Its weight decreases

9. The compound that can not be kept 1s glass vessel

because 1t reacts with glass is
(A) HNO; (B) HCI (C)HF (D) HBr

10. How many grams of NaOH are needed to make
100ml. of a 0.5 M solution of NaOH ?

(Atomic weight : Na=23,0=16, H=1)

(A) 2 (B) 20 (C) 4 (D) 1

11. Chemically Aspirin 1s :
(A) Acetyl salicylic acid  (B) Sodium salicylate
(C) Methyl salicylate (D) Ethyl salicylate

12. Transfer of pollen from another to the stigma ot
the same flower 1s referred to as :

(A) Allogamy  (B) Geitenogamy

(C) Xenogamy (D) Autogamy

13. The Pyrimidine bases in a DNA are :
(A) Adenine and Guanine (B) Thymine and Adenine
(C) Cytosine and Guanine (D) Thymine and Sytosine

14. Which one of the tollowing 1s the natural auxin ?
(A) NAA (B) IAA (©)2,4-D (D)IBA

15. During cell division, DNA synthesis takes place in
(A) Interphase (B) Anaphase
(C) Prophase (D) Telophase.

16. In monohybrid cross of Mendel, when a pure tall
plant was crossed with a dwart plant, all the F; progeny
were tall, because of:

(A) Co-dominance

(C) Incomplete dominance

(B) Dominance
(D) Epistasis

17. One of the characteristics of the atmosphere of
prebiotic primitive earth was :

(A) Absence of hydrogen (B) Absence of water vapour
(C) Absence of nitrogen (D) Absence of oxygen

18. Cerebral Malaria 1s caused by
(A) Plasmodium vivax (B) Plasmodium malariae
(C) Plasmodium falciparum (D) None of the above

19. Satellites provide information about
(A) Forest and vegetative cover
(B) Rivers and their courses

(C) Advancing storms and cyclones
(D) All of the above
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20. Coal, Petroleum and Natural Gas are examples of
(A) Fossil Fuels (B) Cryogenic Fuels
(C) Indigenous Fuels (D) Radioactive Fuels

21. '"Tasar' silk fibre 1s produced by
(A) Antheraea mylitta (B) Bombyx mori
(C) Philosomiaricini (D) Antheraea assamensis

22. One turn of DNA helix measures
(A) 34A° (B) 3.4A° (C) 24A° (D) 44A°

23. Cramial nerve i1n mammals are
(A) 10 pairs (B) 10 (C) 12 pairs (D) 12

2016

1. X-rays are

(A) electromagnetic radiations of very short
wavelength

(B) beams of electrons

(C) electromagnetic radiations of very long wavelength
(D) visible to the naked eye

2. Astronomy means study of the —
(A) Moon (B) Stars (C) Sky (D) Sun

3. Water rises up a capillary tube because of—
(A) Elasticity (B) Surface tension
(C) Viscosity (D) 1ts density

4. The image formed by a plane mirror 1S —
(A) real and erect (B) virtual and inverted
(C) virtual and erect (D) real and 1nverted

5. The energy radiated by the Sun 1s because of—
(A) Nuclear fusion (B) Nuclear fission
(C) Radioactive decay (D) Photo-electric effect

6. With increase 1n temperature the resistance ot a pure
semiconductor —

(A) first increases and then decreases

(B) remains the same

(C) 1increases

(D) decreases

7. Which of the following 1s not a conservative torce ?
(A) Gravitational force (B) Frictional force
(C) Electrostatic force (D) Magnetostatic force

8. Which among the following 1s called 'Laughing Gas'
popularly ?

(A) Nitric oxide

(C) Nitrogen penta oxide

(B) Nitrous oxide
(D) Nitrogen

9. Which among the following gas was leaked during
the Bhopal gas tragedy in 1984 ?

(A) Methyl 1socyanide (B) Methyl 1socyanate

(C) Methyl 1sochloride (D) Methyl 1sochlorate

10. The heat of the sun reaches us by —
(A) Conduction (B) Convection
(C) Radiation (D) None of the above

11. Which metal 1s present in chlorophyll ?
(A) Iron (B) Zinc
(C) Aluminium (D) Magnesium

12. In the manutfacture of Vanaspati ghee from
vegetable oils,which among the following gas 1s used ?
(A) Nitrogen (B) Carbon dioxide

(C) Hydrogen (D) Neon

13. Which among the following 1s responsible for
depletion of Ozone layer ?

(A) Carbon monoxide
(C) Chlorofluoro carbon

(B) Carbon dioxide
(D) Mercuric oxide

14. The term PVC used 1n the plastic industry stands
for :

(A) Phospho Vinyl Chloride

(B) Poly Vinyl Carbonate

(C) Poly Vinyl Chloride

(D) Phospho Vanadium Chloride

15. A short day plant has a critical day length ot 14
hours. It will flower when the day length 1s :

(A) 15 hours (B) 18 hours

(C) 12 hours (D) 16 hours

16. An endobiotic fungus i1s :
(A) Agaricus (B) Morchella
(C) Synchytrium (D) Polyporus

17. Gynobasic style 1s present in which family ?

(A) Mawaceae (B) Solanaceae
(C) Labiatae (D) Orchidaceae
18. 'Globule' and 'Nucule' 1s found 1n :
(A) Oedogonium (B) Rhizopus
(C) Calamates (D) Chara

19. Spindle fibres are made up of :

(A) Flagellin (B) Tubulin

(C) Cellulose (D) Chitin

20. A carcinoma 1s a cancer originating from :
(A) Epithelial tissue (B) Connective tissue
(C) Muscular tissue (D) Nerve tissue
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21. A muscle that 1s consciously controlled :
(A) Striated voluntary

(B) Striated involuntary

(C) Non-striated voluntary

(D) Non-striated involuntary

22. Grub 1s the larva of ;
(A) Insects (B) Crustacea
(C) Beetle (D) Sponges

23. Target tissue of insulin 1s :
(A) Red Blood Cell
(C) Small intestinal tissues

(B) Kidney tissues
(D) None of the above

2017

1. The material used for satety from nuclear radiation
1S
(A) Copper (B) Platinum (C) Iron (D) Lead

2. The electric appliances 1n a house are connected
(A) 1n series

(B) 1n parallel

(C) either 1n series or 1n parallel.

(D) both 1n series and 1n parallel.

3. The immersed portion of a piece of pure ice floating

In water 1S
(A) 89th of its volume. (B) 910th of its volume.
(C) 1011th of 1ts volume. (D) 1112th of 1ts volume.

4. 'Red' 1s used as a danger signal because

(A) blood 1s red.

(B) red light 1s scattered least by the air molecules.
(C) red colour 1s easily available.

(D) red colour 1s soothing tor eye.

5. A shaving brush 1s dipped 1n water. When taken out
the hairs ot the brush are seen to be drawn together due
to

(A) surface tension of water

(B) viscosity of water.

(C) elasticity of the hairs of the brush.

(D) temperature difference between air and water.

6. A body 1s acted upon by two unequal tforces in
opposite directions, but not in one line. The etfect 1s
that the body will have

(A) only rotational motion.

(B) only translational motion.

(C) neither the rotational nor the translational motion.
(D) rotational as well as translational motion.

7. RADAR' stands for

(A) Radio Detection and Ranging

(B) Ready Advanced Appliance tor Ranging

(C) Range Detection Appliance for Airplane Ranging
(D) Ready Advanced Airplane Ranging

8. A reaction 1s spontaneous when
(A) AG = -ve (B) AH = -ve
(C) AS = +ve (D) AS = -ve

9. Geometry of SF4 1s
(A) square planar
(C) octahedral

(B) tetrahedral
(D) see-saw

10. The strongest electropositive element 1s
(A)Cs (B) Lx (C) Mg (D) K

11. Conversion of CH?3C = CH to CH*3CH = CH"2
needs

(A) Lindlar catalyst
(C) NaBH4

(B) H2Pd
(D) LiAlH4

12. Conversion of RBr to RMgBr requires
(A) Mgdry etherN2 -atmosphere

(B) Mg/moist etherN2 -atmosphere

(C) Mgethanol/N2 -atmosphere

(D) Mgdry ether/O2 -atmosphere

13. The tastest SN1 reaction 1s of the followings :
(A) MeO - CH2-CI (B).Me-CH2-Cl

O

11
(C) Me-C-CH2-CI (D) Ph-CH2-CH2-Cl

14. An example of modified underground stem 1s
(A) Carrot (B) Potato  (C) Groundnut (D) Turnip

15. Crossing over occurs during meiosis at

(A) Leptotene (B) Anaphase-I

(C) Pachytene (D) Diakinesis

16. Which of the following processes makes direct use
of oxygen ?

(A) Glycolysis (B) Fermentation

(C) Citic Acid Cycle (D) Electron transport

1'7. The wellkhown antibiotic penicillin 1s obtained
from this plant group :

(A) Algae (B) Fungi

(C) Lichen (D) Angiosperm

18. The nature of stele 1n primitive vascular plants was
(A) Protostele (B) Siphonostele
(C) Dictyostele (D) Atactostele
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19. What 1s a bacteriophage ?

(A) A virus

(B) A bacterium growing in artificial nutrient medium
(C) A tungus causing disease

(D) A phagocytic protozoa

20. "Particulate theory of inheritance" was pro-posed
by

(A) Charles Darwin
(C) Herman Muller

(B) Gregor Johann Mendel
(D) T.H.Morgan

21. Which one of the tollowing animal phylum 1s latest
by discovery ?
(A) Pogonophora
(C) Loricifera

(B) Kinorhyncha
(D) Ctenophora

22. A mammal that lays eggs :
(A) Talpa (B) Echidna
(C) Pteropus (D) Lemur

23. Barr body 1s absent in somatic cell of

(A) Klinefelter syndrome individual

(B) Tripple X syndrome individual

(C) Turner syndrome 1ndividual

(D) Sub-human mammalian female individual

24. 1 nm 1s equivalent to
(A) 1.OA (B) I00A (C) 10um (D) .0lmm

25. Necton are

(A) floating organisms 1n water.

(B) swimming organisms in water.

(C) amimals associated with aquatic plants.
(D) sub-merged plants in water.

2018

1. On average, air contains — % of water vapour.
AL B3 ©)>5 {D)7

2. All electromagnetic wave have the same
(A) Frequency  (B) amplitude
(C) wavelength 1n vacuum (D) speed 1n vacuum

3. The speed ot sound is faster in
(A) solids (B) liquids (C) gases (D) vacuum

4. Life span of red blood cells 1s days.
(A) 60 (B) 120 (C) 180 (D) 240

5. It we add salt to pure water, 1ts boiling point will
(A) 1ncrease (B) decrease
(C) remains same (D) None of the above

5. Muscle fatigue 1s due to accumulation of
(A) Carbon Dioxide (B) Creatinine
(C) Lactic acid (D) Ethyl alcohol

6. Short-sight defect could be corrected by a
(A) Convex lens (B) Concave Lens
(C) Converging lens (D) None of the above

7. Red + Green + Blue =7
(A) White (B) Black (C) Maroon (D) Blue

8. The number of milk teeth 1n man 1s
(A) 28 (B) 29 (C) 20 (D) 12

9. Amount of O; normally carried by 100 ml of pure
human blood, 1s

(A) 40 ml (B) 10 ml (C) 20 ml (D) 30 ml
10. Which one of the tollowing organs 1s the main
respiratory organ of whale ?

(A) Integuments (B) Gills

(C) Lungs (D) Trachea

11. A stone tied to a string 1s whirled 1n a circle. As 1t
was revolving, the rope suddenly snaps. Then

(A) The stone tlies ott tangentially

(B) The stone moves radially outward

(C) The stone moves radially inward
(D) None of the above

12. A body 1s floating 1n a liquid partly immersed. The
body and the liquid are taken to moon. The body

(A) will continue to float as betore

(B) tloats with greater part immersed

(C) tloats with lesser part immersed
(D) will sink

13. A combination of 16 bits 1s called
(A) word (B) nibble (C) memory block (D) byte

14. USB 1s which type of storage device ?

(A) Primary (B) Secondary

(C) Tertiary (D) None of the above

14. Which 1s not a social networking site ?
(A) Linkedin (B) Wink

(C) Facebook (D) Google plus

15. Which among the following 1s commonly used

language in Android applications ?
(A) Java (B) C++ (C) C (D) PHP

16. Errors in computer programme 1s called

(A) Spam (B) Follies (C) Virus (D) Bugs
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1'7. Bleaching action of chlorine 1s by
(A) decomposition (B) hydrolysis
(C) reduction (D) oxidation

18. Chemical name of vinegar 1s
(A) Sodium nitrate (B) Dilute acetic acid
(C) Chloride of Ilme (D) Calcium

19. Deficiency of Vitamin-D results in
(A) night blindness (B) rickets
(C) scurvy (D) hairfall

20. The term PVC used 1n plastic industry stands for
(A) Polyvinyl Chloride

(B) Polyvinyl carbonate

(C) Phosphor Vanadium Chloride

(D) Phospho Vinyl Chloride

21. Plaster of paris 1s produced by heating
(A) Graphite (B) Gypsum (C) Zinc (D) Lead

2019

1. The number of spinal nerves in human body are
(A) 12 pairs  (B) 31 pairs (©) 31 (D) 12

2. A bomb 1s dropped at a point from a moving
acroplane. The pilot observes that

(A) the bomb traverses a curved path and talls some
distance behind that point.

(B) the bomb traverses a curved path and falls some
distance ahead.

(C) the bomb drops vertically downward.

(D) the bomb remains stationary in the air for some
time.

3. Which of the following 1s used in beauty parlours tor
hair setting ?
(A) Chlorine
(C) Phosphorus

(B) Sulphur
(D) Silicon

4. Which of the tfollowing fertilizers has more nitrogen
content ?

(A) Urea (B) Ammonium Nitrate

(C) Potassium Nitrate (D) Ammonium Phosphate

5. Good absorbers of heat are
(A) poor emitters (B) non-emitters
(C) good emitters (D) highly polished

6. Ventilators are provided at the top of the room
(A) to bring oxygen for breathing.

(B) so that sunlight may enter the room.

(C) to maintain convectional currents to keep the air
fresh 1n the room.

(D) to provide an outlet for carbon dioxide.

7. Voice of your triend can be recognized by its
(A) pitch  (B) quality (C) intensity (D) velocity

8. Light year 1s

(A) light emitted by sun 1n one year.

(B) time taken by light to travel from Sun to Earth.
(C) the distance travelled by light in free space 1n one
year.

(D) time taken by earth to go once around the Sun.

9. Twinkling of stars 1s on account of

(A) large distance of stars and storms 1n air.

(B) rotation of earth.

(C) large size of stars.

(D) large distance of stars and fluctuations 1n the
density of air.

9. Select the one having pH <7
(A) Lemon juice (B) Lime water
(C) Human blood (D) Antacid

10. To protect tooth decay we are advised to brush our
teeth regularly. The nature ot the toothpaste commonly

used 18
(A) acidic  (B) neutral (C) basic (D) corrosive

1 1. Which one among the following 1s the main

ingradient in cement ?
(A) Gypsum  (B) Limestone (C) Clay (D) Ash

12. Bras 1s a mixture of

(A) Copper & Zinc

(B) Copper & Tin

(C) Copper, Nickel & Zinc
(D) Copper, Aluminium & Mg

13. Two cars, passing each other at high speed, are in
danger of side swiping because

(A) of the increasing in air pressure in the space
between them.

(B) of decrease 1n the velocity of air molecules
between them.

(C) of decrease 1n air pressure 1n the space between
them.

(D) of the increase 1n the velocity of air molecules
between them.

14. The food that gives more calories per unit mass of
food 1s

(A) protein (B) carbohydrates (C) fat (D) water

15. ECG records

(A) rate of heart beats

(B) potential ditference

(C) ventricular concentration
(D) volume of blood pumped
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16. Bio gas consists of

(A) Carbon monoxide, Methane and Hydrogen
(B) Carbon dioxide, Methane and Hydrogen
(C) Carbon monoxide, Ethane and Hydrogen
(D) Carbon dioxide, Ethane and Hydrogen

1'7. Noise pollution 1s created 1f noise 1s 1n excess to
(A) 70-75 dB (B) 50-60 dB
(C) 80-99 dB (D) 40-65 dB

18. It persons addicted to alcohol, the liver gets
damaged because 1t

(A) has to detoxity the alcohol.

(B) stores excess of glycon.

(C) 15 over stimulated to secrete more bile.

(D) accumulates excess of fats.

19. At magnetic poles, the angle of dip 1s
(A) 45° (B) 30° (C) Zero (D) 90°
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